1. [image: image1.png]What is the rule for the transformation
formed by the translation 9 units

left and 3 units up followed by a 90°
counterclockwise rotation?
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  Rotation and a Reflection
a.   Graph ΔPQR on the graph.

 P(4, 3)    Q(8, 9)      R(10, 6)

b. Rotate ΔPQR 90o CCW.  Record new coordinates and graph the new triangle.

P’ _______    Q’_______  R’________

c. Reflect ΔP’Q’R’ over the line y = x.  Record the new coordinates and graph the new triangle.

P’’_______    Q’’_______    R’’_________

d. Write an ordered pair rule that would perform the composite transformation.

(x, y) ( __________________________

2. For each composite transformation listed, find the ordered pair rule that represents all the transformations in one rule.  Show the steps of developing the ordered pair rule!
a. Rotate 270o CCW, then reflect over y-axis

b. Reflect over y-axis, then rotate 270o CCW

c. Translate horizontally 2 units and vertically 5 units, then reflect over y = -x

d. Reflect over y = -x, then translate horizontally 2 units and vertically 5 units

e. Rotate 180o, then reflect over x-axis
f. Reflect over x-axis, then rotate 180o
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	[image: image2.png]What is the rule for the transformation
formed by the translation 5 units right
and 8 units down followed by a 180°
counterclockwise rotation?

A @y =1"@+5), (y+8)

B @,y)=["(y—8), &+5)]

C Wy =["(y-8,&-5]

D @,y =["&+5), " (y-8)
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	[image: image3.png]What is the rule for the transformatic=
formed by a dilation with scale factor .

A @=L

B (,y)=@kx-4y-4)
C  @,y)= x4

D wa-(i)
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	[image: image4.png]Parallclogram WXYZ undergocs the dilation
D,. If the side lengths were 8 and 12, what

are the side lengths of the image?
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